v
oo
X
o,
of
8o
e
S,
o
i
—n
R
o
D

D) Aezke 0 EE o]t

@ FAANA Q2% Gl 5o Aulgho] $o] Gl 59
Aggkact ¢4 A,
opso] Aoigke] £4] AUlgteet Ak

© ® ©
jan}
lo
i)
>
o)
Mo
jan)
o
IS}

i)
pe)
)
o
(an)
ro,
>
rr
oot
o
[\
=
o
o

~&B

@ SAMNA Q2% G S 9Zo| Qi Surt Ak
ShAT Fzke AP HH | Ae

o Aeigkol A%l G 5o gkt o 22 4 ek,
(1% Sol, 2 7 -3 ©] A9, 27} -3 Bk 2 Ho) A 9.BZ ]
QAT 7 ARG 2] < |- 3) olch)

® AUge AHoRRE | Aolng, $40] AUgte] F
o) Aoizkuct 2 5 ek (A8 Bl 27 39 B¢, 2 &
4ol T -3 & S4A 1 AAZLE 2] < |- 3) o]}

® Aol 0 A 0, 5 7 Lol




(¢}

=

oo

% 8507 87 g AL

O xE=3Rltt a0 R ALY 2 53<x<5

@ xe20F 7oTolth, »2<x<7

Q@ xE 6B AR G, 15 2] Yrf 5 6<x<-1
@ x = 0REo IAY Z, 9olstoltt,. 5 0<x<9
(@)x% —3Wch 33 48t 32 ¥tk » -3 <x<4

® -3<x<4




+17) = (=18) = (—18)+(+17)—(—18)—(+15) j@
+15) ’:ET AetE T Z(L18)+ (+17)+(+18)+(+15) :I
O]:}' Age® S8 X _((C18)4(+18)|+(+17)+(+15)

o _ e
=0+32
=39 :I@
@o o0
®® @6
® g

—18) + (4+17) — (~18) — (+15)
-18) + (+17) + (+18) + (-15)
(-18) + (+18)} + (+17) + (-15)

Il
—

Il

NN O
+
[\




@ (-3) x (+2) x (-2) = 12




5.

ohE ALY 2412 vE2A g stolat

5 6))-5llx e
AB Dk




Hu

i

H7]

24579 11 12

ull
KO

A

12

4,9,12 o]t}

A
<=
n_mo
ol
No
<
T

H7




7.

2x[ Ix7ecE4E
Al

o
A7k 12 091 7P b seolek [ otel e 42

® 2 )3 ® 5 @ 7 ® 11

B

2 xaxT
+D)xn+D)x(1+1)=12 . n=1
25 AL 7 2L £4E 30| B2
31=3







9. Al F2x7,22x7x11,5x112 9 HAFu|5=?

® 2x5x7x11 @ 22x3x7x112
@ 22x5x7?x11x%x13 C@)22><5><72><112

® 22x52x73x112

Al 2] FaFHlaE 2% x5 x 72 x 112 o,




10. 38 & WFH 27t 45 E UYrH 3 0] B

atolat,

> E:

> e 12

38 —2 =236 1} 45+ 3 = 48 o] AT

OEA L
'—FTE‘

12 o]t}




st

H71 Z Qoll sl

XN
=]

Fof Letl lo]ct. o

o=t

o A%5E 5

11. gL fe48 BR
A~
T

D3

ul
K0

@& 47} obd fel4elet.

-7 (B4), -1.83 (B57k of

),

<k

o
v

2]

+15.5 (

whebA] 47t ohd §2i40] g 3 ok,




12.

524 9lo] thg 5ol B3 e u, AHeIA 7H APhe S 9

AANA 7V A7k 5 AUkl 7t
@ -7 9] EdHgh2 7 oJth.
@ +3 9] Adigh2 3 oJth.
® +6 o] AHg2 6 oJth.
@ -2 °] AQighk2 2 ojtt.
©® -8 o] AHgh2 8 o}

€3

22 4eolt},




13. -7.1 3% 35 Abolofl Qe Aee 5 H 7R

© 874 @ 974 ® 1070 @11711 ® 1274

-5, =4, =3, =2, -1, 0, 1, 2, 3 S 2 117}




Tio

il

>~ |3

)
H

=3
ul
KO

A A

o)
60

(+

)

1
5

(+5)-0-(

o)
60

)-(+

Ll
15

(+




(1) + (1) + (-1)3 4 --- + (-1)°" & Albstoizt,

(1) + (<1 + (1 - (1)
=-1+1-1+1-1+---+1
=0




a7t 29

16.

._._“_..u
K0

N




17. 36 =729 2 o]&35}o] 729 — 3% — 3¢ = 243 & WZSI= A5 ¢ 9
A2 F-ohH?

@1 @ 2 ® 3 @ 4 ®)5

36 = 729 0|1l 35 = 243 o|t},
whabA 729 — 243 — 3¢ = 243, 3¢ = 243 ©|B & g = 5 ©|t},




18. A% 135 9] 9F40] 59} 3 x5 x an o] O] A4 2 T,
ntm O LY (Fmn e AAGOIT, a 3,5 25)

@ 1 OF ® 3 @ 4 ® 5

B ,

135 =33x5

(SFa=2] 7He) = 4 x 2 = 8(7M)
I+1)x(n+1)x(m+1)=8,n=1m=1
JHE2 n+m=1+1=2




40 = 23 x5, 4200 = 23 x 3 x 52 x T
20 =23 0]B &2 g=3,

5P =50]|B2 p=1,c¢=7 0|tk
et a — b +c =9 ol




il

doigtel 1

20.

o, ab ©] F2?

=

(13

[s)

B~

-1,1

1

ddigtel 1 &

a

D~




